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0000000000L;(-+)00000000000000000000000 000
00000000000 {++00000000000000000000000000
000000000000000000000000
000000000000000000000000000000000000000
0000000000000000000000 000000000 J,000000
000000F,y=-v/TO000 Fj, =—(w, —w,)/T00000000000000

Alpr(r), po(r")] = Ve (r)T(r)d(r — r') (2.139)
Alpr(r), Jw (r')] = Vpi(r)T(7) (O — (7)) 0(r — 77) (2.140)
guodooooooon
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= Vpu(r)T ( Jo(r)/T(r) =V - prv (2.141)
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= Vk; pr(r)T(r) / dr' (0w — cw (1))0(r — 7') - (wi (7') — wy (7)) /T (7)

n—1 n—1

= VD o0 — ) - (wiy — wy) = Vi - {(wi — wy,) — D cw(wy —w,)}

k'=1 k'=1
= V- p{(w —w,) +cw, + (1 —c)w,} =V - pow, =V - Jg (2.142)

Ooooboooobooboodbpedo Jpy0obooboobboobooob o
gboboboooobooboooan

Alpv(r), pr(r)] = —Alpr(r"), pv(7)]
= —V'pu(rT(r")o(r' —r)
= p(r)T(r)Vi(r —r') (2.143)

gboboobooogon

-/ dx’g(x%f(x')a(x )= | dx'%f@')a(m ) =g)f@)  (2144)

/dx g(z —(5(3: —a') /dx g(@o(x —2') = f(x)g'(x) (2.145)
dooomood
AlTw(r), pw ()] = —Alpe(r'), Ji(r)] = V' pir (7)) T (7) O — cx(r"))d(r — 77)
= pk(r)T('r)(ékk/ - ck/(r))V5('r - ’l“l) (2146)
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1
P(J) = 3 > RijJiJ;, Rij=Rj (2.148)
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0000000000000000000000X =05/0a000

QLX)ZXyﬂ; (2.149)

oboboooboob 0boobXxXoobooboooboo

d(J) - S(J, X) (2.150)
0000000000000 000000000000000000000000000
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> RyJ;—X;=0 (2.151)
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dS 98
ZLU 5, Doy 2 >0 (2.155)

Ooo000L;=L;00000000000000000O00C000

oS 825 dak / 825 dai dak
dt sz:k Y da; 0a;0qy, dt Z Oda;0ay, dt dt —

(2.156)

gbobooobbobuooooobobbuooobbobooooobobouogooboog
00000000000000000000000Y0000000
gooo

o= Li;X;X; (2.157)
(2]
D00000000{X;, i=1,2,..,k}0000{X;, j=k+1,k+2,..,n}00000
:2§:Lijxi:2jj:o (2.158)
i=1
000000 L;=L;000000000000000000000000000000
D00oo0oooooooooo
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dp
S =-V-J. J=rVX (2.159)
o= /dr J(r) - VX(r)= /d’r k(VX(r))? (2.160)

00000000 XO0ODOoooooooooooooooooooopoooéXx =000
ooboooooobooon

do = —2/dr (kV2X (1)) 6X () = 0 (2.161)
afafslslalaliulslals

kV?X(r)=V-J =0 (2.162)
000 8p/ot=00000000
0oo

/ OrvX - VX = / drv - (JXVX) — / dr (VX)X (2.163)
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/drV J(6XVX) = %gdS n-0XVX =0 (if X =0 onS) (2.164)
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d
md—:: = —myv +mF + R(t) (3.1)

obooboooboboorFOObO0Ob0DbOO0ODO0ODbDO0OO0ODOOODRODODODDOODO
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gbbbuoooobbbooobbbboooobbbuooobbbouoobbbooo
gbbbuoogobbbooobbbboooobbbuooobbbouoobbbogo
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d
dt
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(V)oo =F /7 (3.3)

gbobbuoogobboboooobobboybbboogoboo
gbobbouogoobboooooobobao

(v) = —y(v)+ F (3.2)

m— = —m~yv + R(t) (3.4)
goboboooobbboooobd

v(t) = e "o(t) (3.5)

ooog
dv
'Rt 3.6
mar = ¢ RO (3.6)
1/t
6@%:w+~—/e”R@U&’ (3.7)
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1 st /
v(t) = e vy + —/ e VR At
m Jo

t !
x(t) =711 —e ")y + (mv)_l/o (1—e?NRMH) A, OO0O x5 =0

0000000000000 Rp)ODOODOODOOOD0OOOOOOO

(R) =0
(Ra(t)Rs(t')) = 2I0apd(t — t')
aiafulln

(o)) = e ol + == (1= )

(1=0r) = (* ‘7) foof? + 67 (ﬂ%) [(1-e)ar

000000000 m(|jv|?)/2=3kT/2000

= m”kaT

(3.8)
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(3.10)

(3.11)
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(3.13)
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(3.15)
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S(t—t)=1lim ——e =Vn (¢ >¢ +<¢¥000000001000)

1—0 2T

ggoooogoog
_ #/oo (Ry(0)Ro (1)) dt
DT )y Jo

gbobobooogon
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é}=DV% (4, = —DVp)
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p(x,0) = o(x) (3.20)
guoooooog

(@)= * (321)
X = — _— )
PREY = rDryer P\ T aDt
0oOoO
(z(t)*) = 6Dt (3.22)
ooooo
1 2
DDDDDDzF(—J (3.23)
my
0000000000000000000
kT
p o kT (3.24)
my

gobbuogogbbobuogoobobooooboobbbuoogobobooon
gbobbouoggbbooooobbboo

D = lim (|=(t)[*) /6t (3.25)
ooooooooooo

D_hm—/dh/dm “o(t)) (3.26)
ogooooooooooobooooboooono

D ::}iﬂi>§% jgtdtl jﬁtdt2 (va(t1) s (£)) (3.27)

gbbd¢t=00000000000000O0OO0OLODUOODDOOODLObLDbOO0ObDDO
bbbty —tOUooooboooogo

¢(t) = (vx(to + t)va(to)) (3.28)
0000

¢(=1) = (va(to — )vz(to)) = (va(to)valto + 1)) = (1) (3.29)
DDDDDDDDDDDDDD@@DDDDDDDDDDDDDDDDDDDDDDDDD

t
D — lim2 wl hh¢h—h_hm /d@/dw

t—oo ¢
:lm w¢ /&er/<L“> #)ar’ (3.30)
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/OOO fo(t)dt <co (0DDODOD tllrgo% Ot o(t)dt' = 0) (3.31)
afululn
D= /0 T o()dt = /0 T (0a(0)0s(8)) dt (3.32)

0000000 ¢)0000t0000 1/t00000000000O0O0O00000O0O
O0O000O0%eng tall’D 00 OOO0O0OO0OOOOOO

7= (0)! /0 T o(t)dt (3.33)
goooogg
p- T, (3.34)
m

O0000y=7"'0000000000000000O00O0O0OO0OOOOOOOOO
(w(0)-R(t)=0 for t>00.0000000000000000000  (3.35)
00000(3.8) 00000
(v(0) -v(t)) = e vy (t>0) (3.36)

0000@B33)00r=1/40000000(3.32)000000000000000000O
gbbbuoodgobbbooobbbboooobbbooobbbouoobobbogo
gbobbbodoogoobbobuooooobbbbbuoooobob ~00bbODbDboOo
000000(3.16)000000000000000R0O0Or>»n—-000000000
gobooogo

3.2 UOOUOOooooogon

000000000 RHODODODDOO0O0D0DO000000000D00T0000000O0
gbobobuooggobbbooobbobboooobobuoooobbouoobobogao
gooogbogad

R(t) =Y e?™/TR, %:Mlmmmm (3.37)
1T
R, = — / e TR, R*, = R, (3.38)
T Jo
0oo
frwAv=2 3 (|R.J*) (v>0) (3.39)
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Av0000000000 Ay/T'=TAv000000000000000OOO

~ ~ T )
M@MV:HANM%W>,DDDDMWZ%/eQW%@& (3.40)
0
godooooooooooo
_ 1 T —i27uvt ’
,m@)__2T<?A;e R@mt>
9 T T ,
- / dt, / dtae~ 21 (R(1 ) R(ty)) (3.41)
0 0

gbobbuoodgobood

(R(t1)R(t2)) = ¢r(ts — t2) (3.42)

00000¢r(—t) =¢r()0000000000000000000

ﬁﬁy):H{ATdt<1—7%>COMQWVU¢R@) (3.43)
00000000 oo0oooooooooooooooo0T —coOOOnO
fa(v) = 4 /0  cos(2mut) dp(t)dt = 2 /_ " cos(2mut)dr(t)dt (3.44)

oboooboooboobobbobobobuoooboob-0o0boobon
gbobooogbobbuooooboboo

Sr(t) = 206 (1) (3.45)
00000000000 000000000
lﬁ@dzZ/%C%@ﬁmmm@Mt:4F (3.46)

gbbobobbuoooobbbuoooobboooon
oboboobuoobd ROODODODOOODOODODOODODODODOODODOD
fr=4AI'co0noooon

I' = RkgT (3.47)

OO00000O0b ROOODOOOODODOOODOOODOODCOODODOOODODOD
RCOODODODDDOODOODOOOOOODOOOV(HOODODODODOOODODOOOO QO

Q__Q v
dt  RC R

0000V@E#O00000000000(3.12)000000

(3.48)

<Q(t)2> _ <Q(0)2> e—2t/RC + %(1 i e—2t/RC) (3.49)
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gbobobuoogoobbuooooobooo

cr
1)) = 0)%) = — 3.50
(Q?) = Q) = = (3.50)
O00DOoRCOOOOOOOOO
Q2
F—= 51
20 (3.51)
0000000000000 000000000000000000
Q%  ksT
_ 52
20 2 (3.52)

00000000 @47) 0000000000000 O00O0O0O0OODOODOO0OO0OO00O0OOO
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00000 X(HOO0O0004 <ty<..<t, 0000
1 < X(t) < a1+ dey,xe < X(t) < 29 +dag, ..,z < X(t,) < x, +dz, (3.53)
goooogao
Po(xp, ty; .. X, to; 1y, ty)dadesy...d2y (3.54)

OnO0O000o0oo0ogooon
Pn(l'n,tr“,l'l,tl)
Pn—l(xn—lytn—l;"-;xlytl)

gbobbbodoodgoooobbbobodoooobbobboooobbbbobbobon
gobooogo

P(l‘nu tn|xn—17 tn—l; <y L1, tl) -

(3.55)

P(xnatn‘xnflatnfl; "';xlatl) = p(xnatn‘xnflatnfl> (356)
gododooooooooboboidnbOb0bObOObObObOOoooO

Pn(xnytn; ey x27t2; X1, tl) - P(l‘nu tn|xn—17 tn—l)

XP(ZEn_l,tn_1|l'n_2,tn_2) X ... X P($2,t2|$1,t1) X Pl(ZEl,tl) (357)
0000000000000 ooUooooooDy<t<t,OOoOO
P(aa, ta|11, 1) = /P(xg,tg\x’,t’)P(x’,t’\xl,tl)dx’ (3.58)
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p(.]?g, tl + At‘ﬂfl,tl) = (5(1’2 - .lel)

1—At/dx’ W(xy — 2')| + W(x1 — 22)At(3.59)
0000000000 Ae0D00D00000D00ODO0ODODOODOOOOODOODOO0

/ s P (2o, by, 1) = 1 (3.60)
guooooooooobobbobboobo-uoboobbobn

P(x,t—l—At|.r1,t1):/dx2 P(x,t + At|zg, t)P(xg, t|z1,t1) (3.61)
O0000At—-000D00D0D00D0DO0ODO0O0O0ODOO0ODOOD0DOO

)
P, tas,t) = —/dx’ W(x — o) P(x, t|z1, t1)
n / dz’ W(a' — 2) P2 t|z, 1) (3.62)

gbobboogobbboooobbbooooboo
0000000000000 3.62)000000000000000000OO00O0O0OO0O

%P(m,ﬂxl,tl) = /E(m,x')P(x',ﬂxl,tl)dx' (3.63)
gad
L(x,2")=W(" — z)— (/ da” W (2" — x")) §(x — ') (3.64)

0000000000000000000000000 P(x,tlz,t)0000¢t—¢t000
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gboboobodbodu-obougobooobobboobbooobbgyoobbon
gboboboogoon

Pz, t|70, to) = /dxlp(x,t]a:l,tl)P(xl,tl\:z:o,to) (3.66)
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[0 0
0 = /dl‘l aTP(l‘,t|l‘1,t1)‘| P(l‘l,t1|l’0,t0) +/dl‘lp(l',ﬂl'l,tl)a—tp($1,t1|$0,t0)
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0
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—l—/dxl/P(x,t|x1,tl)ﬁ(xl,x')P(x',t1|x0,to)dx'
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!
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pre P(x,tlxy,t1) = /ET xy, 2" )P(x, t|a ty)da’ (3.68)
1

00000000000000000000000000000000000000000
000 f(z)004 00002 =2,0000000000000(f(z(t)),,, 000000
0000000000000

@O = [ o f@) Pl o)
= /dx f(x /[, (x, 2" YP(2 t|zy, t1) da
=[x el x,x'>f<x'>dx'} P(a,ta1,t)

= </£T x, ) ))dx> (3.69)
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/dr W(x—r—z)P(x —rtr,t) = i(—r)” (%) W(x — x4 r)P(x, t|z,t1)

n=0

guoooooboooboobbobd
Cn(x):/W(xHx—i—r) r da! (3.70)

000000(3.62)00000000000000000000OOOOOOOO0O0
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L) =3 % () (%)n (3.72)
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1
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At—0
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3.4 0O0OOOO0O-0000000O
goooouoodood
PU{R()}) x exp [—% / / dtdt'o~\(t — 1" R(D)R(t') (3.75)
O000d0o0ooooobooboObod0o0o0o0ooDooooOoOoOoé-on
ot —t") = (R(@)R(t)) =2I0(t —t) (3.76)

0000000000000 000RKW)OODODODODOOO0ODODOOOUODODODOODOODOO
gboobogobooboogooo

d
md—z = —myv +mF(x) + R(t) (3.77)
00000000000 o) =v0e(t) =2 0000000¢ >¢0000
/ t/ / 1 t/ !
v(t') = ve D 4 / e =) P (x(s))ds + —/ e "= R(s)ds (3.78)
t m Je
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v(t+ At) ~ (1 — vAt)v + F(z) At + — / e =) R(s)ds (3.80)
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Aim o (4 A = 0y, ay=e = —70 + F(2) (3.82)
1
lim — (x(t + At) — x)v(t):u e(ty=e = U (3.83)
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lim —— t+ At) — v)?
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= Jim e s e ATl AT R RE)
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<R1R2R3> = <R1> <R2R3> + <R2> <R1R3> + <R3> <R1R2> == O
<R1R2R3R4> = <R1R2> <R3R4> + <R1R3> <R2R4> + <R1R4> <R2R3> etc.
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gobbuoogobobbuoooo-bogooooo

Poy(z,v) o exp [_kBLT (mTUQ + (b(x)ﬂ , 0000 mF = % (3.86)

0000000000 @.15)0000000000000
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gbobooobbobooobbo
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0 0 r o?
_Y (R s Y
(%v + 61)( (z) +v) + m2 Ov?

000000 @72)0b00ddooooooooogogo
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at (.I’,t‘.flfl,tl) — 63;‘ <63§' — (9]]) (Z',t’l'l,tl) (3 95)
O00oooooooooon
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Poy(x) o exp l T (3.96)

OO000bDobOobooo0TIr=mykgT0O00ooobOOoOoOoOoOOoOoonDoobooD
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0000000000000000D=kT/my000000300000000000
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p(.ﬁlﬁ',t‘.ﬁlfl,tl) (397)
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B(z")P(«', t|x,0) (3.99)

(1)00O00000 P(xc, t|z,0) =0 (3.100)
0

(2)00000 Jim ——P(' tz,00=000000 P(~oc,tz,0)=00  (3.101)
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t=00000000000000000707+d700000000 p(r)dr 000
O0000000000t000 —wo<a'<zcOOODOOOOOOO
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gododoodoooooo
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B a1 0
gooodooooo
_ 9G(x,t)
gooooooooooooooo
[ B © 0G(w,t),  [®
7(z) = /O t po(t)dt = — /0 P /0 Gz, t)dt (3.106)

00000000000000+¢00000G(—00,t)=tG(—o00,t) =000000G(z,0) =
10000000000000000000G(z,00)=0000000000000000
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W(x) = exp [ ggg dx’] , Y(a) = —‘;ng(x) , 61”5) — o)) (3.109)
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5 = "BEvE f(—00) =0 (3.110)
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goooooloooooooooooon (3.98)DDD
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T(2) = % /x e exp [(ZQ ] [ ; da” exp l— if;)] (3.114)
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— P(za) 0

(3.115)

(3.116)

(3.117)

(3.118)

(3.119)
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P.,(a) = exp(S(a)/ks) (3.123)
DDDDDDDDDDD(3.122>DDDDDDDDDDDD

0 dai 0 d&i 1 08 d&i
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0 oS

— P, —Lii + Iy Jkp) —
%aai q(a)( i+ ]/ B)agj

1 05 90S 9%S
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H{p} =~ [ p(a)log pla) da (3.131)
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gbobobuoooobbbooobbobboooobobuoooobbouooobobobogo
gobooboooogon

dS(a)\ < 9S (da\ | B
< dt )rev a zl: aa/z < dt )rev - VaS a 0 (3'132)

0000000000000000 (da;/dt)ey 000 a0 000V, 000000000
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0000000 p(e000000000000000
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gooooodooooooooooodon
Oo0oooooood0 Tma—aOOOOOOO
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0000000000000 00p =Tp0ODODOOODOO

a =Ta (3.135)
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- [ﬂp}+}/pa,bgjﬁwda (3.137)
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DDDDDDDDDAH:HﬂG—Hﬂﬁ:/ﬁmﬂ%JWMa (3.138)
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3.6 UUO0OOOoOooooooooooood

gobooo
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RO (3.141)

0000000000 {w(®)}000000000000000000000000000O
gboboboogobood

WO Ry, (Rw)=0. (RO =t )

gobbuoogobbobuoooobobooooobooo
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ap(w,t‘wO,to) = iw

0000000 AW() =W(t+At)—W(#HDOO0ODO0D0 At0000

P(w,t’wo,to) (3143)

(AW () =0, ([AW®)]?) = At (3.144)
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Wi(ti)—W()00000000000000000000000
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i— 1+t

Iisfto,t) = lim ZF( ) W (t) — W(t,)] (3.148)

0000 F@)=W@OO0000000 W,=W(), AW, =W, —W,_,0000

I(I)(t07 t) = lim Z mflAWi
i=1
1.
= lim 5 Z[(szl + AWZ)Q — Wi,12 — (AWZ)Q]
i=1
1
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mwf—wmf—Méimmﬂ (3.149)

i=1

<P]Amq?—%pM43 = E:QAwqpmy >—2§3<AW’>AQ+§:AQAQ

Z?]

:EXMW>+2XAW[NV> ZAuu
:3§XAW'>+Z<NV>QNV> gyum

= 3 Z (At)? + > AtiAtj — > AL AL
' i#j 4]
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=1 =1
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000000000000 (t—-t)0O0O00oO0o0O0o0oooo0o0oooooooooO
goobogogn

ZW (t + i 1) W (L) — W(ts )]
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= W) = W(t) = (t —to) + (t — to)] (3.155)
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0000000000000000000000O0 (3.13)0000000000O0O0OO

(W (t)* = W (to)*] (3.156)
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dw#) 000000000000 00000000o0o00oooooooood
dX(t) = A(X(t))dt + (I) B(X (¢))dW(t) (3.161)
0000(()00000000000000000000000000000
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to to
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000D f(X(#)0000000000000000
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ot Z,1|Tg,1l0)AT = o 20r 2 Z,1|Tg, 1o .
ogpooodg

Oo0ooo0oooooooooooooooooooooon
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0000000000000 3.16) 00000000000 00-0000000000O0
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000000000000000 ¢y =¢(t;_1) 000000000 AW; = W (t;)—W (ti_1)
00000000000000

DDD::ZX [AW] MJEX@l%[ HN%W

1>7

=3 Z <¢?—1> <[AVVZ']2>2 +2 Z <[AVI/’L]2> <¢z’71¢j71[AWj]2>
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3.7 UU0U0oooooobgn
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gbobogbobbodogoobbbooogobood
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Ww—w =0 \Jooo W —w wrs W —w

00000-00000000004w]000000000004w0+"w000000
Vw] =+[w]+iy"w] 000000~(t<0)=000000000000

w] = / T ety (1) dt = /O Yot (f)dt (3.199)
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(3.193)000000000000000000000000-00000000000
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R[-|0000C,.,00000000000000]w| — ool Aw]<occ0OO00D
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